¥ % Name : £9% Student ID # :

Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 —1 7 3
vi= |2 |,vo=|—-1|,vy=| 11 | ,and vy4= | 6
—5 1 —23 —15
Find the vector v; with the smallest k& such that {vy,...,vi_1} is linearly
independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.

Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon

form of A is
4

R = —3

o O =
O = O
O O W

0
and the first free variable occurs on the 3-th column.
7

Therefore, k =3 and v, = | 11
—23

Check code = (sum of all entries of v;) mod 10 = 5.

ColBasis 1 Indicating your answer by underlining it or circling it.
E E Compute the check code and fill it into the box on the right.

[=] £

check code

D
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 5) -5 -5
vi=|4]|,vo=120(,v3=[—20| ,and v4 = [—19
11 55 —55 —53
Find the vector v, with the smallest k& such that {vy,...,vi_1} is linearly
independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon

form of A is
-5

R —

o O =
O O Ot
O = O

0
0
and the first free variable occurs on the 2-th c
5

Therefore, k = 2 and |vy = |20
55

olumn.

Check code = (sum of all entries of v;) mod 10 = 0.

ColBasis 2 Indicating your answer by underlining it or circling it. check code
E E Compute the check code and fill it into the box on the right. O

a,
[=]:F
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MATH 103 / GEAI 1215: Linear Algebra I

Quiz 2
Let
1 —5 -5 —6
vi=|-5|,vo=1]26|,vy=1| 26 | ,and vy = | 31
19 —98 —98 —117

Find the vector v; with the smallest k& such that {vi,...,vi_1} is linearly

independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.

Let A be the matrix whose columns are {vi,...,v4}. The reduced echelon

form of A is

100 —1
R=[(011 1
000 O
and the first free variable occurs on the 3-th column.
-5
Therefore, k =3 and |v, = | 26
—98

Check code = (sum of all entries of v;) mod 10 = 3.

check code

ColBasis 3 Indicating your answer by underlining it or circling it.
E Compute the check code and fill it into the box on the right. 3

[=]
!-'I'
[=]

o
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 —1 0 4
vi=|d]|,vo=| -4 |,v3=| —4|,and vy = |15
18 —15 —12 Y
Find the vector v; with the smallest k& such that {vy,...,vi_1} is linearly
independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon
form of A is

and the first free variable occurs on the 3-th column.
0

Therefore, k =3 and v, = | —4
—12

Check code = (sum of all entries of v;) mod 10 = 4.

ColBasis 4 Indicating your answer by underlining it or circling it. check code

E:l-‘E Compute the check code and fill it into the box on the right.
it 1
T
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 3 3 18
vi= |5 |,vo= |15 |,v3= | 16 | ,and vy = | 95
—5 —15 —15 —-90
Find the vector v; with the smallest k& such that {vi,...,vi_1} is linearly
independent but {vy,..., v} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.

Let A be the matrix whose columns are {vi,...,v4}. The reduced echelon

form of A is

1
R=|0
10

S = O
S ot Ww

3
0
0
2

=

and the first free variable occurs on the 2-th column.
3 7

Therefore, k =2 and |vpy = | 15 ||

—15

Check code = (sum of all entries of v;) mod 10 = 3.

ColBasis 5 Indicating your answer by underlining it or circling it.
E E Compute the check code and fill it into the box on the right.

ok

check code

3
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 4 0 -3
vi= |=b|,vo=[—-20]| ,v3= |0] ,and v4 = | 16
2 8 0 —6
Find the vector v; with the smallest k& such that {vy,...,vi_1} is linearly
independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon
form of A is

0
0
0

o = O

(1 4
R=100

00
and the first free variable occurs on the 2-th column.

1
Therefore, k = 2 and v = | —20
8

Check code = (sum of all entries of v;) mod 10 = 2.

ColBasis 6 Indicating your answer by underlining it or circling it. check code

EFEE Compute the check code and fill it into the box on the right. 2

Of:H=
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 —1 1 2
vi= |=b|,vo=| 6 |,vg=|—10] ,and v4 = |—10
25 —30 50 50
Find the vector v; with the smallest k& such that {vi,...,vi_1} is linearly
independent but {vy,..., v} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon

form of A is
—4

R:

o O =

o = O
Ot

O O N

0
and the first free variable occurs on the 3-th column.
1

Therefore, k = 3 and |v, = [ —10
50

Check code = (sum of all entries of v;) mod 10 = 1.

ColBasis Indicating your answer by underlining it or circling it. check code

7
E Compute the check code and fill it into the box on the right. 1

E oA
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 -3 —1 11
vi= |b|,vo=[—14]| ,v3= |—=3]| ,and v4 = |50
7 —19 -3 67
Find the vector v; with the smallest k such that {vy,...,vi_1} is linearly
independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,...,v4}. The reduced echelon

form of A is
—4

-9
0

h column.

O = O
S DN Ot

1
R= |0
10

—+

and the first free variable occurs on the 3-

—1
Therefore, k = 3 and vy = | —3

Check code = (sum of all entries of v;) mod 10 = 3.

ColBasis 8 Indicating your answer by underlining it or circling it. check code
E Compute the check code and fill it into the box on the right. 3

[=]
s
[=]

.
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 —1 -5 —24
vi= |0l ,vo= |0 |,v3=1| 1 |,and v4 = 4
4 —4 —25 —116

Find the vector v; with the smallest k& such that {vi,

..., Vk_1} is linearly

independent but {vy,...,v;} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.
Let A be the matrix whose columns are {vy,..
form of A is

., V4}. The reduced echelon

1 -1 0 —4
R=10 0 1 4
0 0 0 O
and the first free variable occurs on the 2-th column.
—1
Therefore, k =2 and vy = | 0
—4

Check code = (sum of all entries of v;) mod 10 = 5.

ColBasis 9

Indicating your answer by underlining it or circling it. check code

Compute the check code and fill it into the box on the right.

D
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Quiz 2 MATH 103 / GEAI 1215: Linear Algebra I
Let
1 —1 3 —8
vi=| 4 |, vo=|—4|,vg=| 13 | ,and vy = |—35
—14 14 —46 124
Find the vector v; with the smallest k& such that {vi,...,vi_1} is linearly
independent but {vy,..., v} is linearly dependent.

Check code = (sum of all entries of v;) mod 10

Solution.

Let A be the matrix whose columns are {vi,...,v4}. The reduced echelon

form of A is
-1 0 1

0 1 -3

0O 0 O

and the first free variable occurs on the 2-th column.
—1
Therefore, k =2 and |v, = |—4
14

1
R=|0
0

Check code = (sum of all entries of v;) mod 10 = 9.

ColBasis 10 Indicating your answer by underlining it or circling it.
Compute the check code and fill it into the box on the right.

check code

9




